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Number System – 2 
1. What is the place value of 7 in 37685832 Indian and International system ? 

a)   Ten Lakh and One hundred thousand 

b) Seventy Lakh and Seven Million 

c) Ten Lakh and Ten Million 

d) Both A & B   

2. What is the place value of 5 in 258051231? 

a) Fifty Thousand and Five Crore   b) Ten Thousand and Ten Lakh 

c) Fifty Thousand and Fifty Million   d) Both A & C 

3. What is the next two numbers by observing the pattern? 

307508725, 307509025, 307509325, _______________, ________________ 

a) 307509625, 307509825    b) 307509625, 307509925 

c) 307509425, 307509525    d) None of these 

4. What is the next two numbers by observing the pattern? 

5735245, 5735190, 5735135, ________, _________, _________ 

a)  5735080, 5735035, 5734970   b) 5735085, 5735030, 5734975 

c) 5735080, 5735025, 5734970   d) None of these 

5. Which number is 10000 more than 9099999? 

a) 9209999     b) 9019999 

c) 9999999     d) 9109999 

6. Find the product of the place values of 2 and 5 in 7054243. 

a) 1000000     b) 10000000 

c) 100000      d) None of these 

7. How many 4-digits numbers can be formed using 4-digits? 

a) 900      b) 9900 

c) 9000      d) None of these 

8. What is the difference between the greatest 7-digit number and the least 7-digit number? 

a) 9999999     b) 8999999 
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c) 1111111     d) None of these 

9. Which of the digits have place value 500000 in the number 9567231? 

a) 6      b) 9 

c) 2      d) 5 

10. 7000000      6999999  + 1 

Fill in the box by >, < or = 

a) =      b) > 

c) <      d) None of these 

 


